18@8 fe,81,081,13 add SD, SD,_32

1084 w.....» Sw ra,28(sp) Tt int main(void) {

1808 oo 11 85,5 int x = 5;

1812 w22 sw a5,12(sp) . intuy=6:

1816 wewwoe li a5,6 _.--FTTintr = multiplu(x, add(x,u));
1828 w1205 SwW a5, 8(sp) T '

1024 wo lw al,B(sp) = return r;

1828 w0 lw aB,12(sp)
18032 www. jal 1112 # +806
1836 weons mv a5, ald

1848 000 mv al,adS

18044 ... 1w aB,12(sp)
1848 o .- jal 1876 # +28
1852 w..»» sw ald,4(sp)
1856 w20 lw a5,4(sp)
1860 w0 myv aB, ab

1064 . ..» lw ra,28(sp)
1868 we0is @add sp,sp, 32
1872 wowme ret

1876 0.0 @add sp,sp,—-16
1888 w..2 sw aB,12(sp) =t
1084 ... su al,B(sp) T return a * b
1888 w2 lw a4,12(sp) ‘
1892 we2ee lw a5,8(sp)
1896 w+v000s mul a5,ad4, a5
1188 woeso mv aB, as

1184 .. ... add sp,sp, 16
1188 wwwes ret

1112 +e0s add sp,sp,—-16
1116 w0 SW aB, 12(5]3) int add(int a, int b) {
1128 w....» sw al,B(sp) e

1124 w0 1w ad,12(sp) PP

1128 weoxe lw a5,8(sp)
1132 w+ow add a5,ad, ab
1136 woess mv aB,as
1140 ... add sp,sp, 16
1144 o0 ret

1148w .00.00.00

1152 w.00.00.00

1156 e 00.00.00

1168 000000

1164 600000

1168 000000

1172 w00.00.00

int multiply(int a, int b) {
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